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Mathematics 1 Module
Solution of Series 03 (Numerical functions).

Exercise 01: Domain of the functions
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Exercise 02: The limits
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Exercise 03:
1) We have f iscontinuous for x # 5, because it is rational function. At x = 5
We obtain : lim,_s f(x) = f(5), then f is continuous on IR.

2) We have g is continuous for x # 2, because it is rational function. At x = 2
We obtain :
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Then g is continuous if : 2b+1 = % - b= —71.
Exercise 04:
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Exercise 05:

1) The domain of equation is

x=1>0 _ [x>1 _[xe i
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Then, we have :

In(x~1)+1n(x~3)=1n(3) & In{(x~1)(x=3)) =In(3) (car In(a)+In(8) =In(axb))
e (x=1)(x=3)=3e P =dr=0x(r-4)=0r=00urx=4.

Finally S = {4}.
2) The equation is defining_if
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3) The domain of equation is |0, +oo[. We put X = In(x), then

X +X-6=0, with two solution
X=2ehy=2ex=¢
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4) The equation is defining_if
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Exercise 06:

1) L’inequlitie is defining if
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then
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2) We have
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3) We put
X =In(x),then
X*—-3X+2=0
then

S = ]—00,0] U [In2, +oo],

Exercise 07:

1) The system is defining_if x > 0 and y > 0, then:
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We have :
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2) The system is defining_if x > 0and y > 0.
We put X = In(x),Y = In(y), then
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3) We have
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